Prove that (a + b)2 + (a — b)2 = 2(a? + b?).

Show that the product of two odd numbers
is always an odd number.

Prove that a four-digit number is divisible
by 9 if the sum of its digits is divisible by 9.
Hence identify which of the numbers 3978,
5453, 7898, 9864, 5670 are divisible by 9
without carrying out any division.

Show that

(a2 + b2)(c2 + d2) = (ad + bc)? + (bd — ac)?.

Prove that 1—5+L—£.+L_i+m=l_
3 9 27 81 243 729 8

Prove that the diflerence between the
squares of two consecutive numbers is
always an odd number.

Showthat -1 1, 1 _ w ol
m-1) n (n+l) a -1

determine the value of l—l+ l.
5

6 7

. Hence

The diagram here shows a trapezium ABCD
that has been divided into three triangles.
Use your knowledge of areas and the
diagram to show that a* + b? = ¢,
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9. Afeo of trapezium = 5(a+b)(0+b)
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